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CERTIFICATE IN POULTRY FARMING

c\r
	 Term-End Examination

cV	 June, 2010

O OLP-001 : INTRODUCTION TO POULTRY
FARMING

Time : 2 hours	 Maximum Marks : 50

Note : Attempt any five questions. All questions carry equal

marks.

1.	 Choose the correct answer :	 10x1=10

Hybrid layers of today lay on an average of
	  eggs per year.

(i)
	

100 to 120
	

(ii) 300 to 320

150 to 180
	

(iv) 250 to 280

	 are the most popular among the
domesticated poultry species.

(i)	 Chicken	 (ii) Duck

(iii)	 Turkey	 (iv) Quail

(c) 	 occupy second place to chicken
in population of eggs in the country.

(i)	 Geese
	

(ii) Duck

(iii)	 Turkey
	

(iv) Quail
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Turkey are mostly reared for 	
purpose.

(i)	 Egg	 (ii) Feather

(iii)	 Meat	 (iv) Game

Family poultry is usually managed by

	  •
(i)	 men	 (ii)	 women

(iii)	 children	 (iv)	 none of the above

India is the 	 largest producer of
eggs in the world.

(i)	 Fourth	 (ii) Fifth

(iii)	 Third	 (iv) Second

Average number of eggs produced by a bird
reared in backyard is 	 per year.

(i)	 10 to 20	 (ii) 30 to 40

(iii)	 50 to 60	 (iv) 80 to 100

	  is a game type chicken.

(i)	 Aseel
	

(ii) Ka daknath

(iii)	 Cornish
	

(iv) Silky

	  is a seasonal breeder and lays
eggs between March to September.

(i)	 Geese	 (ii) Chicken

(iii)	 Guinea fowl	 (iv) Emu

(j) During moulting, the feathers are lost from
the 	 first.

(i)	 Neck	 (ii) Body

(iii)	 Head	 (iv) Tail
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2.	 Define the following (any ten) :	 10x1=10

Breed

Artificial Insemination

	

N	 (c)	 Hatchability

O	 (d)	 Chick
O

Layer

Pullet

Trap Nest

Litter

Flock

Moulting

(k)	 Broiler

(1)	 Poultry

(m)	 Culling

	

3.	 (a)	 Define Feed Efficiency Ratio (FER). Write 21/2
the formula for calculating FER for layers
and broilers

What are the strengths of Poultry 21/2
Industry ?

What are the advantages of rearing 21/2
chicken ?

(d)	 Describe some of the specific characteristics 21/2
of Geese.
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4. What are the benefits of Turkey farming ? 21/2

Explain the factors influencing meat
production.

21/2

What are the advantages of mixed farming
system ?

21/

List the poultry academic and development
institutions in India.

2%

5. Classify chicken based on the commercial
value and utility.

21/2

Name any two egg type duck breads ? 21/2

Describe physical characteristics of them.

Describe the different parts of head of the 2%

chicken.

Name any four organs related to digestive
system of chicken.

21/2

6. Define pen mating 21/2

What are the disadvantages of artificial 21/2

Insemination ?

Describe shift system of mating. 21/2

Explain flock mating system. 21/2

7. Write short notes on any two of the following : 2x5=10
Present production

Judging of poultry

(c) Persistency of production
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8.	 (a) Calculate persistency (% egg production)	 5
based on the following assumptions :

Age at sexual maturity	 =145 days

Age at judging	 = 276 days

Number of eggs produced = 95

(b) Calculate age at sexual maturity (ASM)	 5

based on the following assumptions :

Age at pullet	 = 420 days

Number of eggs produced = 180

Rate of egg production	 = 81.81
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1.	 Tit drie Vt	 10x1=10

qthiri ArRi	 Tr-egg (.1( 51 0 .q1=f, 3ft-d9.
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(i)	 100 A 200	 (ii) 300 A 320

(iii)	 150 A 180	 (iv) 250 14 280
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(d) dcb	 alft77

ic1tI

*f 4101

(i)	 at47	 (ii)	 TR

(iii)	 1:11"F	 (iv)	 	

717-4R-14T-4Te 410-r wr wRiaT-47.{ 	
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(i)	 112u	 (ii)	 Lima!	

(iii)	 d1titl	 (iv)	 i;kiti

-4-vgt -crA	 aft	 at1F-dff 4(sql

Irrua-Ef 	

(i)	 10	 20	 (ii)	 30 A. 40

(iii)	 50'A 60	 (iv)	 80 14 100

	  i" dwi	 	  ti

(i)	 chscblin

(iv)
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3. tftirfrEfff 21/2ART	 alTfiff (WI 3TR)

WI *4-(14	 WzIFtt fR7

cht	 fit37 I
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ITU f4tErdTall wr--7 I 21/2
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14ki	 3P1Trdff c	 4 cu

t?

chitch 41 -4 21/2

frifff thir4TT ired 	 7rIT wrr t? 21/2

q.TR7	 14-4tft tvforw fa-*-m TtR-Tr91 2 1/2
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6.	 (a)	 -49'	 mitiTTFEM -Wit4R I	 21/2

TNITcatit.)-cli	 Wfr t?	 21/2

4W. 4 1 #ITIZ ffffargl	 Tzrue .wlf-R I	 21/2

(d)	 kislITTR (flock mating) Lleo	 -)-Rxr.r3z wir-q7 I.	 21/2

	

7.	 An-6	 # 171:14 i0t17 :
	

2x5=10

ait TAt Tiff 3c-41q1

(c)	 3t .4. 3c4iql—Pliott1i

	8. 	 (a)	 	 (Ingo 3T4Nrum311	 airTtig-TR Fltcltc11	 5

(persistence) (% afzi 3c4ic1) i Ltro:nrocr

wr-4R :

Ali 4R4ctc111* wi ti air/	 =145 Ri

at*-64*TFRI3	 =276 ti

zeTto 3 iit•q f 	 =95

(b)
	

1 4-i tgd	 3T4t1RulTallt allgrCER Triff 4 t4 cicirlf	 5

*Pig	 CR 7f)	 4rtehRld Tif7R :

4at (pullet) 39	 =420 iccm

zFrir-0 aft tun	 =180

331 3c414q	 =81.81
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